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Note: Answer FIVE full questions, selecting ONE full question from each unit.
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UNIT -1
1 a. Briefly explain the characteristics of the databagproach.
b. Define the functions performed by Databedministrator and Database designer.
2 a. Describe Three-schema architecture.
b. With a neat diagram, explain the componendunes of a DBMS.
c. Describe Three-tier client/server architeztu
UNIT - 11
3 a. Explain the different types of symbols usethe ER-diagram.
Construct an ER diagram and relational detabschema for the COMPANY database.
The company keeps track of employees, projectdapdrtments. A department controls a
number of projects and employee can work for anylmer of projects. The company
keeps track of dependents of each employee foransa company.
4 a. Define the following terms with an example :
1) Domain i) Atbute
iii) n-tuple iWelation schema.
b. Write a short note on:
1) Recursive Relationships i) CardinaRgtio
UNIT - 11
5a. Explain the following relational algebra ofignas :
1) SELECT ) RROJECT
i) CARTESIAN PRODUCT iv) UNION.
b. With an example, explain variations of J@iberations.
6 a. With an example, explain the update operabmise relational model.
b. Explain the ER to relational mapping alduomit
UNIT - IV
7 a. Bring out different clauses of SELECT-FROMHBRE- GROUP —HAVING with an
example each.
b. With example, explain aggregate functionSQL.
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8 a.
b.

Explain Informal design guidelines for relanbschema. 10

What is normalization? Define and explain 3MEh an example. 10
UNIT -V

Discuss ACID properties of database transasti 8

What are the anomalies resulting from coreurtransactions? How do you overcome this

by a lock based protocol?
How the schedules can be characterized loasserializability? Give an example. 10

What is lock? Explain the strict 2PL. 10
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